
644 Chapter 19 Valuation and Financial Modeling: A Case Study

| 9.2

ldeko Sales and Operating Cost Assumptions

1. What is the purpose of the valuation using comparables?
2. lf the valuation. using comparables indicates the acquisition p.ce is reaso_@compared to other firms in the industry, Ooes it estabtish ihat itre acquisito- o I
- 

good investment opportunity?

The Business plan
Y4rile comp_arables provide a useful sarting point, whether this acquisrtion is a su.,:=dtrnvestmenrfor KKp depends on Idekot post_acquisirion performanje. Thus, ir is ne::sr,nto look in detail at Ideko,s operationr. inu.r,^.rrr., 

""a 
i"piiJ ,,ru-o".e, and to ari.s nrpotential for improvements and future growth.

Operational lmprovements

3:-lT,:Tt*""1t side, you are quite optimistic. regarding the company,s prospe.-:. l_tmarket rs exPected to grow by 5olo per year, and Ideko prod"u.., 
" 

,up'r.io. piod,rct, I.3r
l1f::fii. h* 

""t grown in recent ye"^ b.""ur. 
".rri.r,, -""a."i.", rr* a.vore,: .lsd

:;Tl:T':,:::[:I#.':;:,iff :::tEil;ll,*:T::r;$:mj';1*5=x
expenses are 1,3,500/75,000 = 18%o of sales, a rate that exceeds its expendirurc La. jrland marketing (15% ofsales). This is in .,"rk .orrr."r, .-iiJ,ii., *frf"f, spend is l,admrnisrrarive orerhead than rhey do on sales and markering.

IIL(I, plans ro cut adminisrrative costs immediately aid redirect resources :: Erproduct development, sales, and marketing. By doing so, yo, i.ii.*ll.r." .r, in!_:€ rmarket share from l0olo to 157o o.,,er.the 
"ne", 

n* fi"r. if.J.r.""* r"f., dem.e-r: abe-met in the shortrua.using the existirrg p-d.,"tioi lino if i"..."Jrg ."*,,me aj:i: --rrimng some weekend shifts. However, once the growth in .,ol,,_. .*...t 5070, Id& qrldefinitely need_to undenake a major expansion to increase irs manufacturing capa:rtThe spreadsheer in Thble 19.3 shows s"les and operatirrg."" 
"rlr_p,_", f.r 6r:

*:"t::',:5.1.f :ll. nhi r the spreadsheet, ..i_s."i, 
-Ur". 

,"p,*ent data rir: brbeen entered, whereas ru:mbers ;, Ut""t "r..A.u",.il;;;; ;fi::l;:::*T ;example, given the current market size of 10 million ,"i;;;;;;.red grorrl :a d.5o/o per year, the spreadsheet calculates.rhe expected market size in yelrs I through . l_shown is the expected growth in Idekot market share.

Sales Data'l Market Size
2 Market Sh6re
3 Average Sales price

Cost of Goods Data
4 Baw l\4aterials
5 Direct_Labor Costs

.Operating Expense andTax Data
6 Sales and Marketing (yo sales)

Grovwh/Year
(000 units) b 07. IO,O0O tO,5O0

1.4% 10 c)% 11.0o/o
($/unit) 2 A% 7b.00 76.b0

11,425 n,576
12.0Vo 13.0%
78.03 79.59

12,155
14.OVo

81.18

7 Administrative
6 Tax Bate

t6 00 16.16
18 00 1a.72

15.070 I6.5%
1A AV, t 5.0%
35 07. 35.0%

16.32 16.48 16.65
19.41 2A.25 21.06

r8.0,/. t9 57. 20 0:
15 0?; 1,10./o t3 0::
35 0% 35 O% 35 0::

($/unit)

($/unit)
1Aa

4A%

(o/o sa/es)
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,",.1ffi'l:i.tf,l';il.:'lijJ[],i:::::expected to increase because of a 2%o inflation
casl ro increase ar a ,", ,r," ""i, "ill9-cosrs 

are exPected to rise, Raw marerials are fore_
will rise ar.a <"" ,",. ar. ,olaj,"-.jlli{ t:" *o::t some producrir iry gains. Iabor cosrs
resources from 

"d-ilr;;;;;'r|,::-t]'.1"T" 
The rable also shows the reallocation of

produ*ion capacity Require;:;: 
-*-.n* 

"ver 
the five-vear pe'i; 

'""-""" "'

Problem
Based on the data in ,Iable 

19.3, whatwill an expansion b. ,;".r;;' 
w'ar Production caPaciry will Ideko require each year? \x4ren

Solirtion
Production volume each year can be es
martcet share in Thble 19.3: 

rtimated by multiplying the total rnarket srze and ldeko,s

Based on this foreqrr, producrion volu --------: t'/ut 1,9j4 
|

srtacrng an expansion then. 
me will exceed its current level by 50yo by 200g, neces_

property and are no, d.,ll.j h.r.. -i 
--. '*'qrcl'urrr are qutre specific to the nature ofthrr ne depreciarion shown will be 

"".d ,b, ,_ ;;;;;.f

ldeko Capital Expenditure Assumptions

Capital Expenditures: ,A Needed Expansion

IT m"i:*";:,*ti'"tt;1 ':::":l rorecast.ror ldekor capital expenditures over the

,'r,T:*'ff:'J:ffi *;tutlffi $:*".:ilr*1.*t*':,:ffi
[hr{{l,,il'ilff l:il,-,1,1;:#',,,".,:d;lfiil.i1io.o*.,,,..".i"
l".;1.*1 I ",;X::rffi ;:,:iT;;Tr.,, 

r'. oi, ^'' 
*1 i' i:T:::fil l:i: :; ;f:':Iy;

;*#;#+t'jtf #?nT#i."ii!i:?1;,,:[::,r:;xi:';x;:

___-
'Firms ofcen mainrain separare boolts for

, iation .rssump,ions ro, .,,.,,. i.",Jill Lil:i"l'"*'lo tal purpo..s. and rhey m
sequences, tax depreci",i"^,. -.r...i*"*"i.?"-"*t'1"''lnJ""rlil.1ffi;?il:i;f i#::::

P,-dil:J;J, 
:t"'*'ooo 

*Gr
10,000 10,500 11.025 12,155

14.Oo/o

1,702

: proouction Vdurneli. z]
10'0o/a |'oo/o Q'|.,/a
r ooo rrss_t

Fj-"fii:11ffi
I upenlng Book Vahr, c""n, 

""*r"",' 
co ooo 49 5oo /9 o5o

3 Depreciarin^ 5 0oo 5,ooo b,ooo
48,645 61,181 69,10220ala raiit0 aLt00+ h*"te;;v,i,"- - - ;ri33 _*3 ...ulu_
: or: :-[ - - l0]ar,zst es, to2 -69,fr
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*#***lgg*1{ +tt*t':
I"y, of ,"""iu"bltt' 

Accounts Bqrrfryq x365 dayslyr

Accounts Receivable DaYs = Sales Revenue ts/YtJ

= ffi*'u'U"Ys=o0daYs 
11o l) 

|

;:,"rilft: [l{'#:l*i:.{.:,l;l ffiffi I

il ljii'"'lii -"Hil';l( '{

ffii*$+:[i ;$.;':.m:lrt

""0o"''::""":::::::",1',::.:i':'-*i,.tUf*,.***:l#,

p**;*ffig$Jffi;q$'iffi [.'i'J.-'''ff

-*"H}ils****ffi*ti,ry:;
Interest in year r = Interest Rate X E"t:l,iil 

^?". "*ts 
taxable incomeInterest in Year '= 

t"t 

"lr"i*r" 
.* shield to offset ldeko s taxable income'

The interest on the debt will provid

tdeko's Planned Debt and lnterest PaYments

o"ttfiGi!''{l1"lsoool roooo'r
1 OJtsrandrng uE-"' 

^-. 6 80oo _

- ^^^ , i( ooo r2o ooo o ooo

'09999, 'o,o;'-l'., 
',u."rio, ,ttto, 't tuo

2 lnterest onTerm Loan
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^-rt_i1dft.l 
to the tax benefit, the loar will allow KKp to limit its inyestment in ldekoand preserve its capital for other i

2.a, r,.,r,. ".q';i;;;."T'.;'1]:"ffi1.";T. i."til:L:l; JHfifi . 

;llff ;":1chase 
.price 

for Idekot equity, $4.5 million will be ur.d ,o ,.p"y IJ.kJexisting debt. !?.ith$5 million in advisory and other fees_associated with the ,o^".,iorr, ,t. 
""quisition willrequire $159.5 million in totar funds. KKp's sources offi-r.ra, irr.tude *r. .r.* loan of $100million as well as Ideko's own excess cash (which KKp _ill h"r.;;;ss to). Thus, KKptrequired equity contribution to the transaction is 159.5 _ 100 _ 6.5 = $53 million.

Sources and Uses of Funds for the ldeko Acquisition

1, What are the different operational improvements KKp plans to make?
2" Why is it necessary to consider these improvements to assess whether the acquisi-tion is attractive?

| 9 .3 Building the Financial Model
The value ofany invesrment opportunity arises from the future cash flows it will generate.To estimate the cash flows resulting from the investment in
Idekot.future ."*i.gr. w. then consider Id"k",, -orkirrg 

I.:;Tl;i:*rtt-m:X
and estimate its free cash {low. Vith these data in hand, ive can fbrecast Ideko,s balance
sheet and statement of cash flows.

Forecasting Earnings
'w'e 

can forecast Idekot income sraremenr For rhe five years following the acquisition basedon the operational and capital suucrure changes propor.d. This income statemenr is oftenreferred to as a pro forma irrco-e .tare-eni b.."ur. it is not based on actual data butrather depicrs rhe firms financiajs under a given sqt oF hyporherical assumprions. The oroforma income sraremenr rranslares our .*i....,ion, ,.g;,i: . .- - r'-
ments KK? can achieve at rdeko ir,ro .o,,riq.r.,,.ir-h;il;-ri;i;:iltj;:uonal 

imProve-

To build the pro forma income *l .l:l,,we begin wirh ldeko,s salei. Each year, salescan be calculated from the estimates in Thble 19.3 "lfo o*r.
Sales = Market Size x Market Share x Averaqe Sales price (r9.3)

f:i,:-"ryj., rn 2006, Ideko has projected sa.les of 10.5 million x tto/o x 76.j = $88.358mllron. the spreadsheet in Thble 19..7 shows Ideko,s current (2005) sales as well as pro_jections for five years after the acquisition (2006_2010).

I
2

3

Souices
NewTerm Loan
Excess ldeko Cash

Uses
Purchase ldeko Equity I b0 OOO
Bepay Existing ldeko Debt 4,500

Total Uses of Funds - ]6SFOO


